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B.A. General PART-II Examinations, 2018

PHILOSOPHY-GENERAL

PAPER-PHIG-Ill

Time AIlotted: 3 Hours

Thefiguresinthemarginindicatefullmarks.
Candidates should answer in their own words
and adhere to the word linit as practicable.
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All symbols are Of usual sigrif icance.

Group-A

fch-iF
Answer Question No. 1 & 2 and any fro from the rest within 300 words each

>ap`¢`a`en§iqii`5aeaeihaourc§Lcacq-canapaesi5a
as ooo mangto

jinswer anygive questions from the following within two sentences each.            2x5 = 10

iiny6TR`5cqLcap`lcqtqpeemaSi5aiit\easgSalcaya"xpi

(a)  Who is the author of Nyaya Sutra?
fflmaalincap9

a)  What are meant by Sapaksa and Vipak5a?
F9pFqqp`ia9fFq5Tc5@calcan9

(c)  What is Svarhanuutna?
givqitcsRE?

(d)  What are the constituents of paramarsa?
9wi"@@iENa5ma?

(e)  what is anumiti karana?

quq5arfea9
®  What do you mean by Vyabhicata -adar§ana?`fflut'a5]c©acanrm7

(g)  Name the avayavas of a pafroavayavi anumana.
9wiqFTqFTqaeia@@?
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a)  Identify the hetu and s5dhya of the following inference:
Fire is cold, because it is a substance.

fialife5TFT CQ ¢ men 6f5iwh3  qfsife cqEQq5ql I
(i)  Mention the form of the paramarsa jfiana of the following:

The hill is smoky, because the hill is fiery.

fiffirfas qgiv 9fa\q{pqa qt5ia st5Q[ q5cal8    ffi quaiF, an fiae
algiv,

¢)  What is the meaning of the ten `Naya' in Jaina Philosophy?
t5iarfe`tEN'ffiw¢@7

2.          Write shortnotes on any twoofthefollowingwithin l00words each:                   5x2 = 10

iarfeifecq-canpefaREig$9taees>00it5angF`ifeENaFcan8

(a)  Relation between anumiti and vyaotijfiana
qEpeqqp`fflrf88gtRErfe

(b)  Paramar§a according to Nyaya
ENiTgivrfu

(c)  Distinguish between ptirvavat and §esavat inferences

q€`¢cRE`qTqu"fafanan
(d)  Jaina Syadvada.

t5iFng,

3.       ::g'aai:#i:i?d[enfi#:;°cno:tfe::ue:;ti;£rthaetj:t#r: g:gefna:haberm¥:ejpfi=:.nana        8+2+5

qxprfca qqap anpt q5eni xptq e giv qno dc5F firfu i5fii I  a± &Fffi
®rqserd5t9Fmiqffl9tanqseni

4.       3:tEnseu[¥#gt:xa#j:fr;;¥:aa:.N¥[;:t;:kna:hs:edk{¥oe:esn:b#Svy°afp¥,yapt{        2+5+8

aniTgivq7tRI5TxpqwisFng.pT€iafiaa¢taan©iiqst5atanitFTalrm
anaealENang

5.        g6ea,aa;at:r:F,P±eow°£oe¥:tvs:gr5;i:emk£Ke[:i:::;:;.; ;n¥e¥gnc:S7  {t   ca[,ed      2+3+[°

csqqq7f6irfeqaprf6ae]Fngqfflvaiq±qgivc5Fc5aaTffliaeaqtq9
canqffiqffiqc#q`qpeonrfufitrfuani

Critically explain Jaina ` Saptabhangi naya'

t5iF`7peREffl'ffianani
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Group-B
fch-a

Answer Question No. 7 & 8 and any two from the rest

qtt`¢b-atemaa`5REcqLcanpeeltRIsi5awe
Answer anyfve questions from the following:

fis6rfie cu-can ne an Sea fl€:
(a)  "Nothing is both round and square." Give the logical form of this statement

and state which temi is distributed.
"cap\en fi* qftft< tp«qTqsta € rfu xp 9ma ffl I " ch qF¢iaee-iiii55 an
Tii\8qqT`can`9rrfean9oercei5tqeni

(b)  What is meant by distribution of terms?
maan9u"qaT®@cEN?

(c)  Give an example of material obversion.
a5:ngfirfuaatsFEqmoi

(d)  Use truth-table to define the logical connecting `='.

Ti57"in Fiqco .=9 -qa xp`en Tit\9 I

(e)  Is simple conservation of `A' proposition possible?
`A' q5cia Fa5T of a 7Ti5q ?

®  Give an example of an argument which commits the fallacy of illicit minor.
iin 9pF anRT @ qas gil sFt5q mo I

(g)  Determine the truth-value of `® I q) vq' when p is false.

pfaenRI`®]q)vq.-tgaqwqFIfacfaq5cani

(h)  If E proposition is true, then its corresponding A is
Ois

tlPe E a5i Fi5T F 5tan A er Iffl       _     ,Oap

(i)  Represent `Everything is P. by Verm Diagram.
`qalaep'-4±qtrfecrfuffi9tPeqsffll

a)  Show the forms of Mill's Method of Difference.
iazfflqjr®cflqQ|9rfum¢tacENi

Write short notes on any two of the following:

faqerfie cq-cqstciT ap fa $9ta F`ife ca cFcen8
(a)  Types of conversion

iqlirfu en
(b)  Opposition of proposition

qRERTffl
(c)  Existential fallacy

qrg`1qq)CRE
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(d)  Distribution of terms.
maanrmi

9.         %Sithd:av£[affa£?(a°nfyt?£r:°e[)[°whg eyll08ism or syllogistic fous dy mean of    5x3 = 15

¢gqfi;:q'ip  `F][{=];I:ty  faserfap  RE qi  rm¢`ia\®ifa taq5t  ia5ta  an3  (cq-cantee
(a)  AAA - 1
(b)  AAI - 4
(c)  Children are  always  cowards, but not always  liars,  therefore  liars  are  not

always cowards.

pt®atrfues,iaeqrfuiaQmi@ffl,q5`9qiae8whrfuesRIi
(d)  Some  women  are  musicians,  but  au  political  dignitaries  are  not women.

Therefore,allpoliticaldigriitariesaenotmusicians.

caneniqi;±givFq@ca@,fingjR9LR¥chsSrfeqfeF[ffligivp\ffl
9tmaal5aeq7f5ngFaniTF`

10.       Test the validity of the following with the help of Truth Table: (any ffo"
q53RTinFtaptqgq§itfaei5qt:(cqLcaptcFtfae)

(a)  p = (q v r)
- q v - r/ ...- p

Q,)  p ] q /... p J -q
(c)  (G v H) J I

I 3 (G . H)7 ...  (G v H) I (G . in

(d)RamwillcomeifandonlyifShyanandJaducome.IfJaducomesthen
Ram will not come. Therefore, either Ram will come or if Shyam comes
then Jadu will come.

an`q`(S{tqqRaap\capqqqtqalRrm€ngma`tliTR",5taeTaniqtFta
ffliq{53{t¢qanqtqcq;iap`qtrfe"tqtFT®tfflFiiqtFFi

11.       Use  truth-tables  to  detemine  whether the  following  statement forms  are
tautologous,self¢ontradictoryorcontingent.

ia:={{a[1ia'ga5Ftaeffiae3",map8ian,mwifa-®FENinqu
ffianl

(a) - [® I - q) . - p]
a) ® . 0 ] (r v p)
(c)  [® . q) v r] = I(r v p) . (r v q)I.

12.       Explain and examine Mill's Joint Method of Agreement and Difference.
iamaqan-q7Gngae9perfcaq7pem¢REqscan`
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